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FLUID MECHANICS
© Prafia . dR R : [frmam 3% : 70
Time allowed : Three Hours] [Maximum Marks : 70
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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii)  Fe% 5T % T 9T ) AR T G E il |

Solve all parts of a question consecutively together.
(ifi) I I F) 79 Y8 & IR Fford |

Start each question on fresh page.
(iv) 21 sian 7 3 g7 #1 ffa 7 3 SaR S A E |

Only English version is valid in case of difference in both the languages.

1. () g% WHa a8 B aueEy |
‘ Explain the Newton’s Law of viscosity.
(i) TRrwE Ffer yarE Hi awsmT |
- Explain steady and unsteady flow.
(iii) SETETd 1 FHAT |
Explain water hammer.
(iv) %Y@ e T T wHAEd |
Explain Path line and Stream line.
(v) HTEHA TETE i FHSST |
Explain the syphon flow. ; (2x5)
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Calculate the total pressure and centre of pressure for inclined surface submerged
in fluid.

e § C, C, W C, Frepre <t farft w1 vl i |
Explain the method of calculating the C - C, and C in laboratory. (6+6)

gt & & Freeor Pt % g3 wTfia il |
Describe the formula for calculating the discharge through venturimeter.
Tt arraaRR el % Frfrean firqer uftesg & fore o wenfia Hif |

Derive the formula for most economical section for rectangular channel. (6+6)

foreht sreammft weg <t SR %1 afes avi R
Describe the working principal of reciprocating pump with neat sketch.

TETEA & Tiffentor o faam & awamse |

Explain in detail the classification of turbine. (6+6)

Tt W@ % g1 UHEHT STTHATHR 3o i @Il Tt & WA o §F i TG HIT |

C.alculate the time of emptying a tank of uniform rectangular section by any
mouth.

%@hmmﬁaﬁ@m%mwaﬁém@w@aﬁm |
Derive the formula of the equivalent length of pipe connected in parallel order. (6+6)

BiereR 779 W yare * foe g wenfia Fifv )

Derive expression for flow over triangular notch.

TS UEA A1E4 600 mm STH T 1500 m TS i ® | e agm & forg o I
T 9139 ATeA 36 = i 3ges fadra ared s # St ¢ | g afodt w61 o
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A pipe line is 600 mm diameter and 1500 m long. To increase the discharge
another pipe line of same diameter is introduced parallel to the first in the second
half of the length. Neglect minor losses. Find the increase in discharge. The head
at inlet is 30 m (4f=.04) (6+6)
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7. @) 1 m=EH TS D I 38 TR g g § 6 udh Juan w arfsman meas
Tt 1 T A 1.5 m T 2.5 m A= &Y, @ e T A T T T 5 916 ] |

Find the total pressure and the position of centre of pressure on one face of 1 m
diameter plate which is immersed in such away that it least and greatest depth of
immersion below the free surface of water are 1.5 m and 2.5 m respectively.

(i)  3TThs) TPy T e gry § e i |
Write the comparison between Centrifugal pump and Reciprocating pump.  (6+6)

8. frafeiRea w e feurf forfiae - (1 @)
Write the short notes on following : (any Three)
() TRr=m
Pitot tube
(i) e adu Prm
Fluid friction law
 (iii) T I T Ud gl yauran @t
Total energy line and Hydraulic gradient line

(iv) SRS
Draft tube ; (4x3)
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